11 КЛАСС

БЛАНК ОТВЕТОВ НА ЗАДАНИЯ 
Часть 1. [60 баллов]
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	1-10
	
	
	
	
	
	
	
	
	
	

	11-20
	
	
	
	
	
	
	
	
	
	

	21-30
	
	
	
	
	
	
	
	
	
	

	31-40
	
	
	
	
	
	
	
	
	
	

	41-50
	
	
	
	
	
	
	
	
	
	

	51-60
	
	
	
	
	
	
	
	
	
	


Часть 2. [30 баллов]

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	1-10
	
	
	
	
	
	
	
	
	
	

	11-15
	
	
	
	
	


Часть 3. [25 баллов]

	№
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	«ДА»
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	«НЕТ»
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	№
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25

	«ДА»
	
	
	
	
	
	
	
	
	
	

	«НЕТ»
	
	
	
	
	
	
	
	
	
	


Часть 4. [14,5 баллов]
1. 

(2, 5 балла)

	Изображение
	1
	2
	3
	4
	5

	Классификация костей
	
	
	
	
	


2. 

(3 балла)

	Изображение
	1
	2
	3
	4
	5
	6

	Растение
	
	
	
	
	
	


3. [мах. 3 балла].
	Изменение
	1
	2
	3
	4
	5
	6

	тип модификации
	
	
	
	
	
	


4. [3 балла]
	Генотипы
	1
	2
	3
	4
	5
	6

	Расщепление по фенотипу
	
	
	
	
	
	


5. [3 балла]
	Характеристика:
	1
	2
	3
	4
	5
	6

	Матричный процесс:
	
	
	
	
	
	


